May 8, 2018 BOARD OF COUNTY COMMISSIONERS ORANGE COUNTY, FLORIDA Y18-1057-TA / ADDENDUM # 1 WASTEWATER STRUCTURE COATING TERM CONTRACT

Bid Opening Date: June 5, 2018

This addendum is hereby incorporated into the bid documents of the project referenced above. The following items are clarifications, corrections, additions, deletions and/or revisions to and shall take precedence over the original documents. <u>Underlining</u> indicates additions, deletions are indicated by <u>strikethrough</u>.

A. Question and Answers:

 Question: Please advise if bid no. Y18-1057 Wastewater Structure Coating Term Contract has been bid prior? If yes, Can I please get the prior bid tabulation / bid sheet.

Answer: IFB Y18-168-TA, Wastewater Structure Coating and Lining Term Contract was solicited however it was cancelled with the intent to resolicit in the near future. In accordance with Florida Statutes, the bid tabulations and bid sheets for IFB Y18-168-TA are not available for public records.

There was a previous term contract, IFB Y15-1127, Wastewater Structure Coating and Lining Term Contract that was solicited and awarded. This contract has since expired. Attached is a copy of the bid pricing for this contract.

Bidders shall make note that the specifications and bid items have been changed since IFB Y18-168-TA and IFB Y15-1127.

Receipt acknowledged by:				
Authorized Signature	Date Signed			
Title				
Name of Firm				

BOARD OF COUNTY COMMISSIONERS ORANGE COUNTY, FLORIDA

AMENDMENT NO. 1/ CONTRACT NO. Y15-1127

WASTEWATER STRUCTURE COATING AND LINING

ROWLAND, INC 6855 102ND AVE. NORTH PINELLAS PARK, FLORIDA 33782

Effective Date November 10, 2016

This amendment is hereby incorporated into the contract documents of the project referenced above. The following items are clarifications, corrections, additions, deletions and/or revisions to and shall take precedence over the original documents

- 1. IV Contract Documents, E. is changed to the following:
 - E. This Contract is effective November 10, 2016 and shall remain effective through November 9, 2017
- 2. All other terms, conditions and specifications remain the same.

BOARD OF COUNTY COMMISSIONERS ORANGE COUNTY, FL

Patty Hobbs, &r.)Contract Administrator

BID TEM	DESCRIPTION	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	EXTENDED PRICE
<u>18</u>	Seal and Recoat Other Concrete Structures	500	SF	1250	6250°
<u>19</u>	Line Manhole (Polyethylene or PVC liner, 48"-50" diameter or smaller)	36	VF	845-0	30,4200
20	Line Manhole (Polyethylene or PVC liner, 51-71" diameter)	20	VF	1,235 co	24,70000
21	Line Manhole (Polyethylene or PVC liner, 72" diameter or larger)	20	VF	2.05-	40,3000
22	Fiberglass Manhole Insert (48"-50" diameter or smaller)	1	EA	43000	48000
23	Fiberglass Manhole Insert (51-60" diameter)	1	ΕĀ	5600 50	5600000
24	Reconstruct Manhole Benching	75	EA	3 <i>e0</i> %	25'200ez
<u>25</u>	Seal and Recoat Wetwell (48"-50" 6' diameter or smaller)	500	VF	351 cc	175,500°
<u>26</u>	Seal and Recoat Wetwell (8' diameter)	300	VF	46500	139 50000
27	Seal and Recoat Wetwell (51"-71" <u>10'</u> diameter)	3 <u>1</u> 00	VF	515 😕	52 50000
28	Seal and Recoat Wetwell (72" <u>12'</u> diameter)	100	VF	705-	70, SOO 62
	Strailpiega/fellettetting (2)				
29	Point Down Chemical Sealing	300	GAL	150 °E	45,000-
30	Internal Structure Leak Sealing (confined space entry)	200	EA	250°°	50,000 00
		BASIC YEAR TOTAL			\$ 864 75000

BID TEM	DESCRIPTION	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	EXTENDED PRICE
<u>47</u>	Seal and Recoat Other Concrete Structures	500	SF	1250	6,250 =
<u>48</u>	Line Manhole (Polyethylene or PVC liner, 48"-50" diameter or smaller)	36	VF	845	30,420°2
<u>49</u>	Line Manhole (Polyethylene or PVC liner, 51-71" diameter)	20	∨F	1,255	24,70002
<u>50</u>	Line Manhole (Polyethylene or PVC liner, 72" diameter or larger)	20	∨F	Z,015 30	40,50000
<u>51</u>	Fiberglass Manhole Insert (48"-50" diameter or smaller)	1	EA	48000	48000
<u>52</u>	Fiberglass Manhole Insert (51-60" diameter)	1	EA	560000	200000 480000
<u>53</u>	Reconstruct Manhole Benching	75	EA	3000	22,500
<u>54</u>	Seal and Recoat Wetwell (48"-50" 6' diameter or smaller)	500	VF	35100	175500°C
<u>55</u>	Seal and Recoat Wetwell (51"-71" 8' diameter)	300	VF	465°5	139 50000
<u>56</u>	Seal and Recoat Wetwell (72" 10' diameter and larger)	100	VF	51500	575ec=
<u>57</u>	Seal and Recoat Wetwell (12' diameter)	<u>100</u>	<u>VF</u>	705	70,500ee
	stellfiggrandenensage				
<u>58</u>	Point Down Chemical Sealing	300	GAL	150=	45,000 ec
<u>59</u>	Internal Structure Leak Sealing (confined space entry)	200	EΑ	25000	26 060 cc
		OPTION YEAR 1 TOTAL			864, 650 DE

BID FEM	DESCRIPTION	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	EXTENDED PRICE
	caneral:				
31	EMERGENCY Mobilization, Demobilization, Bonds, and Permits	1	EΑ	35000	35000
<u>32</u>	Complex Maintenance of Traffic	2	LS	1,00000	350 €° 2000 €° 2,750 °°
<u>33</u>	'Traffic Control Officer/Off Duty Police Officer	50	HR	55 [©]	z,750°€
	lijetall/Replacel fence.				
<u>34</u>	Chain Link Fence Install/Replacement	40	LF	3, 25	13000
<u>35</u>	Wood Fence Install/Replacement	40	LF	500	790°
	WEET Statement (in the control of th				
<u>36</u>	Bypass Pumping for Sanitary Sewer Mains (13"-24")	50	LS	500°	.25,000 ec
<u>37</u>	Bypass Pumping for Sanitary Sewer Mains (>24")	5	LS	1,00000	25,000°C 3,000°C 25,000°C
<u>38</u>	Bypass Pump Station (>1,500 gpm)	1	LS	3,000 cm	3,000=
<u>39</u>	Extra Tankers	25	EA	1,00000	25.000°C
	Sanjighvillaninole Webruill Stiffedures	2 4 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			
<u>40</u>	Adjust Existing Manhole Frame and Cover (paved areas)	1	EΑ	650°°	650 °C
<u>11</u>	Adjust Existing Manhole Frame and Cover (unpaved areas)	1	EA	300 ^{e,o}	300°C
12	Replace Existing Manhole Frame and Cover (paved areas)	1	EA	1050°C	1050 00
13	Replace Existing Manhole Frame and Cover (unpaved areas)	1	EA	750.50	750°C
<u>.4</u>	Seal and Recoat Manhole (48"-50" diameter or smaller)	500	VF	180%	90,000 00
<u>5</u>	Seal and Recoat Manhole (51"-71" diameter)	100	VF	224°C	72 400 00
<u>6</u>	Seal and Recoat Manhole (72" diameter and larger)	50	VF	7.75%	13,500 000